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ELECTIVE COURSE : ECONOMICS
EEC-05 : ELEMENTARY MATHEMATICAL
METHODS IN ECONOMICS

Time : 2 hours Maximum Marks : 50
o (Weightage : 70%)

Note : Answer two questions from Section-A, three questions
from Section-B and three questions from Section-C.

SECTION - A

Answer any two questions from this section. 2x10=20
1. A monopolist produces two commodities x and y

jointly. The relevant cost function is

C=x2+2xy+3y? The demand functions are

P,= 36-3x; P, = 50—5y

Find :

(a) Profit maximising prices 4
(b) Profit maximising quantities 4
(c) Amount of maximum profits 2

2. Discuss the importance of Hawkins- Simon
condition in input - output analysis. With the help
of an example, explain the Hawkins-Simon
condition. |
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3.  The demand function for a good x is given by
Qx=65—5Px+3Py+O.5 I
Where Py is the price of the other good y, and I is
income of the consumer.
Find the own-price, cross- price and income
elasticities when, P,=15, Py =12 and y=1500.

4.  Consider the production function y=AL*KP
(@) Find average productivity of labour as a
function of L.
(b) Show that marginal productivity is
proportional to average productivity.
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SECTION B

Answer any three questions from this section :
3x7=21
5. (a) Integrate the following :

(i) f9e*dx

1
(i) j;—+—2dx

(b) State the fundamental theorem of calculus
with a suitable example.

6. Find the inverse of the matrix :

2 )

7.  Solve the difference equation.
7

8. Using implicit differentiation method, find
dy
P of :
32—y +xy—-y+1 =0

9. Prove that the Lagrangean in a utility
maximisation Problem is the marginal utility of
money.
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SECTION C

Answer any three questions form this section. 3x3=9

10. Compute the determinant

N b
O O =
W = W

11. Ify = e2t+4, findi—f

12. Find the degree of homogeneity of the function

2 1

Q= 7K/3 L/2
_2x+5 . lim y
13. Ify = ey find |, 2
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